
Exercise 3A Multiplication (1)
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Example 1

Mr. Stewart has 4 baskets of eggs.
There are 2 eggs in each basket.
How many eggs does Mr. Stewart have in all?

4 groups of 2

Multiply (×) to find the total number.

4 × 2 = 2 + 2 + 2 + 2

 = 8

Mr. Stewart has 8  eggs in all.

4 ×× 2 = 8 is a 
multiplication 
equation.
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1. Ms. Ward has 2 baskets of potatoes. 
 There are 4 potatoes in each basket.
 How many potatoes does Ms. Ward have in all?

 2 × 4 = 

 Ms. Ward has  potatoes in all.

2. How many apples are there in all?

× 3 = 

 There are  apples 
in all.

2 groups of 4
4 + 4

 groups of 3

3 + 3 +  + 
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3. How many erasers are there in all?

Erasers Erasers Erasers

 3 ×  = 

 There are  erasers in all.

4. Ms. Green buys 2 boxes of crayons.
 Each box has 7 crayons.
 How many crayons does Ms. Green have in all?

×  = 

 Ms. Green has  crayons in all.
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